SIGNATURE PAGE

RFQ# F-25-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Tronex International, Inc.
	(PRINT)
Preparer's Name:	Steve Rummel
Signature:	10/14/22 (DATE)
Address:	_300 International Drive
	Mount Olive, New Jersey 07828
Telephone No.:	(973)335-2888
Fax No.:	(973)335-2900
E-Mail Address:	srummel@tronexcompany.com / governmentaccounts@tronexcompany.con
	(This should be the email where Contracts would be sent)
Contact Person:	Steve Rummel
FEIN:	
(Endoral Employee ID)	

RFB must be received no later than:

REQUEST FOR BID

---- This Is Not An Order ----



October 19, 2022 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH **DECEMBER 31, 2023**

For Delivery to:		Various Delivery Locations. See Details Below.			
Delivery Date:		1/1/2023 - 12/31/2023			
ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
GLOV	(ES:-NO LATE)	X PRODUCTS - RUBBER: POLY NITRILE			
1	LINED RUBBI	ER GLOVES, SIZE: SMALL	100 PAIR(S)		
	Packaging: MFG/Brand Product No: Variances, i	· · · · · · · · · · · · · · · · · · ·			
2	LINED RUBBI	ER GLOVES, SIZE: MEDIUM	100 PAIR(S)		
	Packaging: MFG/Brand Product No: Variances, i				
3	LINED RUBBI	ER GLOVES, SIZE: LARGE	100 PAIR(S)		
	Packaging: MFG/Brand Product No: Variances, i				
4	POLY DISPOS NO POWDER	SABLE GLOVES,1.25 MIL., SIZE: MEDIUM,	2,000 GLOVE(S)	\$0.0088	\$17.60
	Packaging: MFG/Brand Product No: Variances, i	2788-20			

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH **DECEMBER 31, 2023**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	POLY DISPOSABLE GLOVES, 1.25 MIL., SIZE: LARGE, NO POWDER	2,000 GLOVE(S)	\$0.0088	\$17.60
	Packaging: 500 gloves/box, 4 boxes/case, total 2,000 gloves/case MFG/Brand: Tronex 2788-30 Variances, if any:			<u> </u>
6	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (S) SMALL, NO POWDER	12,000 GLOVE(S)	\$0.0465	\$558.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM	·		
	Packaging: 100 gloves/box, 10 boxes/case, total 1,000 gloves/case MFG/Brand: Tronex 9047-10 Variances, if any:			
7	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (M) MEDIUM, NO POWDER	12,000 GLOVE(S)	\$0.0465	\$558.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			
	Packaging: 100 gloves/box, 10 boxes/case, total 1,000 gloves/case MFG/Brand: Tronex 9047-20 Variances, if any:			
8	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (L) LARGE, NO POWDER	12,000 GLOVE(S)	\$0.0465	\$558.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			
	Packaging: 100 gloves/box, 10 boxes/case, total 1,000 gloves/case MFG/Brand: Tronex 9047-30 Variances, if any:			
9	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (XL) EXTRA LARGE, NO POWDER	448,000 GLOVE(S)	\$0.0465	\$20,832.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH **DECEMBER 31, 2023**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 100 gloves/box, 10 boxes/case, total 1,000 gloves/case MFG/Brand: Tronex 9047-35 Variances, if any:			
10	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (XXL) EXTRA, EXTRA LARGE, NO POWDER **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM	52,000 GLOVE(S)	\$0.0515	\$2,678.00
	Packaging: 100 gloves/box, 10 boxes/case, total 1,000 gloves/case MFG/Brand: Tronex 9047-40 Variances, if any:			
11	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL. (MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS) EXAM GRADE NON-LATEX POWDER FREE BEADED/TEXTURED GRIP HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE SIZE: LARGE	20,300 GLOVE(S)		
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM Packaging: MFG/Brand: Product No: Variances, if any:			
12	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL. (MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS) EXAM GRADE NON-LATEX POWDER FREE BEADED/TEXTURED GRIP HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE SIZE: X-LARGE **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM	19,500 GLOVE(S)		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
13	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL. (MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS) EXAM GRADE NON-LATEX POWDER FREE BEADED/TEXTURED GRIP HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE SIZE: 2X-LARGE **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM Packaging: MFG/Brand: Product No: Variances, if any:	<u> </u>	- ,	
14	NITRILE DISPOSABLE GLOVES, BLACK, 8 MIL. INDUSTRIAL GRADE UNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XL **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM Packaging: MFG/Brand: Product No: Variances, if any:	300 GLOVE(S)		
15	FOOD SERVICE GLOVES, POLYETHYLENE, DISPOSABLE, LATEX AND POWDER FREE, CLEAR, SIZE X-LARGE **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM	72,000 GLOVE(S)	\$0.0088	\$633.60

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31. 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 500 gloves/box, 4 boxes/case, total 2,000 gloves/case MFG/Brand: Tronex 2788-35 Variances, if any:			
WORK	(UTILTY GLOVES LEATHER, COTTON, KNIT			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
16	GLOVES, BROWN JERSEY COTTON, UNLINED, 9 OZ., MEDIUM WEIGHT	250 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
17	GLOVES, BROWN JERSEY COTTON, LINED, 14 OZ., HEAVY WEIGHT, GUNN CUTT	550 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
18	GLOVES, STRING KNIT WITH FULL PALM COATING INCLUDING FINGER TIPS, BLUE LATEX SIZE: LARGE	150 PAIR(S)		
	Packaging:			
19	GLOVES, STRING KNIT WITH FULL PALM COATING INCLUDING FINGER TIPS, BLUE LATEX SIZE: X-LARGE	450 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
20	IMPACT STYLE WORK GLOVE SIZE: MEDIUM	2 PAIR(S)	,	

County of Monnicular

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH

ITEM#	DESCRIPTION	QUANTITY/UNIT_	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
21	IMPACT STYLE WORK GLOVE SIZE: LARGE	155 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
22	IMPACT STYLE WORK GLOVE SIZE: X-LARGE	126 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
23	IMPACT STYLE WORK GLOVE SIZE: XX-LARGE	32 PAIR(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:		<u> </u>	
		•		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH **DECEMBER 31, 2023** ...

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
24	LEATHER WORK GLOVES	263 PAIR(S)		
	SAFETY CUFF			i
	SPLIT COWHIDE, KEVLAR STITCHED			
	LEATHER-WRAPPED FINGERTIPS			
	KNUCKLE STRAP FOR ABRASION PROTECTION			
	DOUBLE PALM WITH EXTRA LAYER OF LEATHER IN			
	HIGH-WEAR AREAS			
	COTTON BACK			
	ABSORBENT FLEECE LINING SEWN INTO THUMB AND			
	FOREFINGER			
	GLOVE LEATHER GRADE: A			
	GUNN CUT			
	THUMB STYLE: WING		,	1
	NOT INSULATED			
	SIZE: LARGE			
	Packaging:	_		
	MFG/Brand:	_		
	Product No:	_		
	Variances, if any:			
25	LEATHER WORK GLOVES	319 PAIR(S)		
20	SAFETY CUFF	SIS FAIR(S)		
	SPLIT COWHIDE, KEVLAR STITCHED			
	LEATHER-WRAPPED FINGERTIPS			
	KNUCKLE STRAP FOR ABRASION PROTECTION			
	DOUBLE PALM WITH EXTRA LAYER OF LEATHER IN			
	HIGH-WEAR AREAS			
	COTTON BACK			
	ABSORBENT FLEECE LINING SEWN INTO THUMB AND		1	
	FOREFINGER	'		
	GLOVE LEATHER GRADE: A			
	GUNN CUT			
	THUMB STYLE: WING	•	1	
	NOT INSULATED			
	SIZE: X LARGE			
	Packaging:	_		
	MFG/Brand:	_		
	Product No:	<u> </u>		
	Variances, if any:			
		<u> </u>		
			i i	

TOTAL:

\$25,852.80

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH **DECEMBER 31, 2023**

ITEM# DESCRIPTION QUANTITY/UNIT **UNIT PRICE TOTAL PRICE**

Division of Highway

Public Works Complex

250 Center Street

Freehold, NJ 07728

Cassandra Deckle 732-431-6550

Buildings & Grounds/Trades

Special Services Complex

300 Halls Mill Road

Freehold, NJ 07728

Karen Retzer 732-431-7360 x2136

Division of Fleet Services

Public Works Complex

250 Center Street

Freehold, NJ 07728

Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

Division of Shade Tree

Special Services Complex

300 Halls Mill Road

Freehold, NJ 07728

Cassandra Deckle 732-431-7903

Sheriff's Office - Correctional Institution

P.O. Box 5007

1 Waterworks Road

Freehold, NJ 07728

Jeff Sauter 732-431-7860 x1203

Health Department

Veteran's Memorial Building

50 East Main Street

Freehold, NJ 07728

Denise Richardson 732-431-7456 x2725